Problem 1.  System S:
	
	a
	b
	c
	f

	X1
	2
	0
	1
	0

	X2
	0
	1
	1
	1

	X3
	2
	0
	0
	0

	X4
	0
	1
	1
	1

	X5
	1
	0
	0
	0

	X6
	1
	1
	0
	1


Follow RSES strategy to find reducts in S assuming that f  is the decision attribute. 
	
	X2
	X3
	X4
	X5
	X6

	X1
	ab
	-
	ab
	-
	abc

	X2
	
	abc
	-
	abc
	-

	X3
	
	
	abc
	-
	ab

	X4
	
	
	
	abc
	-

	X5
	
	
	
	
	b


F(a,b,c)=(a+b)(a+b+c)b=b       (a+b)(a+b+c)c=(a+b)c=ac+bc
Problem 2.  Assume that {e,c} are stable attributes and {a,d} are flexible. 
Follow action tree algorithm to find action rules re-classifying objects in Table 2 with respect to d. Follow LERS to find classification rules.    (2->1)
Find confidence and support of action rules.
	X
	e
	a
	c
	d

	x1
	2
	3
	1
	2

	x2
	2
	1
	1
	1

	x3
	1
	3
	1
	2

	x4
	1
	1
	1
	1

	x5
	2
	3
	3
	2

	x6
	2
	1
	3
	2


Table 2.

LERS:   d1*={2,4},  d2*={1,3,5,6}
e1*={3,4}, e2*={1,2,5,6},  a1*={2,4,6}, a3*={1,3,5}<d2*
c1*={1,2,3,4}, c3*={5,6}<d2*
e1.a1*={4}<d1*, e1.c1*=e1*,  e2.a1*={2,6}, e2.c1*={1,2}, a1.c1*={2,4}<d1*,  

e2->d2  conf=3/4,  a1->d1  conf=2/3.
a3->d2,  c3->d2,  e2->d2

e1.a1->d1,  a1.c1->d1,  a1->d1

---------------------------------

d1                                                          d2

E     a      c      conf                                 e     a     c
---------------                                          -----------------

e1   a1                                                          a3

       a1   c1                                                          c3

       a1             2/3                                  e2                      3/4

---------------                                          -----------------

E=e1                         E=?

a     C     conf            a     C    conf

---------------            ---------------

a1                            a1   c1       

                                a1           2/3

     C=?              

a=a1
